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() o YRS Jelsh JETen 4 At Iq gEiad SR @A 1, 2, 3 301 4 o9 wHiE e . o
TR {IAT e Tl TIEY sious arud, Ufaes ar yngd i ames T,
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ATH T HIEEd. HAN T SIEfE0 Sa5 S 00 TEeT U9 SHeiuT JIecard Tt ag T SIote Ugie

TAUFFRT Uehal TR ok I WISl AU L. TG oo 3T EIgd TH 30 ferary & qures SR .

LA UETI=AT SALUTaehTe eaieh ™ HTaT SHEaRTeAT SATuiaaare aivg STy 10T €0 Fraio.

T ' JHEENT TS TETaidl TwUTean YT al feoean S It Haid G SEE Atk d

G TETE. AT S IUCHhT FISTaSedt Wldh o T el IHUHIET TEhT W9Are 0T o

HIOYTE A

r qareR I .1
T wyTufrEETs amav fafiq Foor de dovda § uvagfaet amanet arewer A dt

THPTRETTT SHEATIO THGHTS! aTUare SUare 94 378, @ d@ HuvHd Hel yyAgieEs e
wa,/well, fohar Wat WyTufiahaie S NI RV WU WAl o WUl FIvTeETe
A YAavt, THw YiHeE. HIOT T TR0 FHA A0 Fft HIT= SeritaT FrEAe Sl
Foe  ulteTHed oM IR Wiaay St AfaR-82 " qde aadan
TEY Wfonl HTTET TIGEMEN FRaE ®IvaE de & Srot el Hule Uh auiAr
FHTETErEAT T/ e Fud U -Tor Thue gsr= e ura fide.

U T Yoty aTet ol ol 9o HuvHmenst @ wTqRaeT SFRhauul ST & G5t
T A TR FHOM ST ATEA FH AR gerient, 7o Taren wagmagarimt sl
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A 3 TO5

1. WG AT EETE SETd T AT hee | TR Ui sfean’ @ st Sivien YRedg STEegETt

TAaH 8 ?
(1) ¥eHE! FEPHEYE (2) TAEH
(3) W e (4) e somrE

Which Industrial Group is a stakeholder in “Air Asia India’, a recent entrant in Indian Civil
Aviation scenario ?

(1) Adani Industrial group (2) Tata Sons

(3) Sahara India (4) Kingfisher Industrial group

2. TR TR R /R favR d e e ?
(a) 30 S, 2014 T wRaTeaT 979, TS, 5. -9 23 3 IR 390= 99 39UT FHTT Ho.
(b) uH.ug - 23 = F9F 230 TH A, I 44.4 HX R AR
(c) H.UH L4 23 91 @d T 100 HI FaHT .
(d) THYHM AT I 30 9 YA 35 IGUE YAfYd F e
L pip e ol
(1) (a) 3 (b) 2 ®©F@ (B) (a) @) AT (4) Tow
Which of the following statements is/are correct ?
(a) PSLV - C 23 of India launched five satellites of four countries in space on 30 June 2014.
(b)  The weight of PSLV - C 23 is 230 tonnes and its height is 44.4 meter.
(¢) The cost of PSLV - C 23 is ¥ 100 crore.
(d) It has launched 30 satellites of foreign countries and 35 satellites of India till date.

Answer options :
(1) {a) and (b) (2) ()only {(3) (a),(b)and (c) (4) All above

3. wE faum our =

(a) TEIHNT MEDo Wi VRETd 7 Hige Noo fA9Ts, SEa 91 Fiea™ Frerfaa g e

(b) SHET TR Fow Wy WA 1 Wi 10 fafus, Swa ¥ wweard e 2.

(c) Write SERd! a9kt T §d FUad qid &0 T4 TRRet AHar TR,

il B e /v faen we 3T/ 3T ?

(1) ek (a) ST (b) ) #owd

(3) wH () (4) T (b) I (o)

Consider the following statements :

{a) A bill introduced in the Rajya Sabha but not taken up in the Lok Sabha does not lapse
on the dissolution of the Lok Sabha.

(b}  Bill passed by the Lok Sabha but not introduced in the Rajya Sabha lapses on the
dissolution of the Lok Sabha.

(c) It is mandatory for the new government to pass all bills kept pending by the previous

government,
Which of the above statements is/are true ?
(1)  Only (a) and (b) {(2)  All the above
(3} Only (¢) (4) Only (b) and {(c)
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4. TR faumits HivR fGaE 9T o ?
(a) TESR AeT (NOTA) Taid 0N HeWIe & g6l U9 31,

(b) THETE AT 2014 =1 BihEHT (HaevER 79 qeRrene | Tefaliol’ AaeREHn waid S
TR e’ (A7 @ i sdte) & wai TicfEe e ?

W'hﬁ'ﬁ:
(1) %9 (a) (2) e (b)
(3) (@9 @b)I= 4) (@) d (b) I T

Which one of the following statements is correct ?
(a) Maharashtra is the second state to offer NOTA facility to voters.

(b) During the Loksabha Elections 2014, GADCHIROLI constituency in Maharashtra
recorded the highest number of NOTA (None of the Above Option).

Answer options :
(1) Only (a) (2) Only (b)
(3) Both (a) and (b) (4) Neither (a) nor (b)

5. woe faur o =
(a) I AU Fsfed Werl HaTHd .
(b) @ IFY 9 Az TgHrt B V.
(c) o1 9N Favl TEE i ueEHEe.
it R T/ e ate s,/ ?
(1) T (a) ST () (2) W ()
(3) W (a) STV (b) (4) oo T
Consider the following statements :
(a) Uber Cup is related to badminton.
(b) Both women and men can participate in it.
{(c) This year China has won the gold medal.
Which of the statements given above is/are true ?
(1) Only (a) and (¢} {2) Only (c)
{3) Only (a) and (b) (4) Above all

THoET HTHTRIS! ST / SPACE FOR ROUGH WORK
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A 5 TO5

6. YWY T fadramaren eeta! B faum S oTR ?
(1) ST} qHETE 29 & T THe.
(2) TS tEEREE 10 e wHEY 9o,
() TR € <R T e 15 98 TE TS TR,
(4) Tt THE TR

Which of the following statements is not correct with regard to Andhra Pradesh
Reorganisation Bill ?

1) Telangana becomes 29t state of India.
{ g

(2) Telangana will comprise 10 districts including Hyderabad.
(3) Hyderabad would be the common capital for the two states for 15 years.
(4) None of the above.

7. A FEEH, 2014 § WAHd qia! vl w1,

(a) warFe fame (@) e Ty
(b) THE WS FEFE fme () 12 9 o
(c) ¥ =ww fSwomy fomme (i) ‘T I =

(d) TE iR g s (iv) ‘T’

(@ () (0 (d
(1) G) @) @) @
2y ® @ @) @)
@) @) (v) 0 @
@ @ 0 @ @
Match the Oscar Awards, 2014 with their recipients.
(a) Best Movie (i) ‘American Hustle’
(b) Best foreign language film (if) ‘12 years a slave’
(c) A film winning seven Trophies  (iif} ‘The Great Beauty’
(d} A film having ten nominations  (iv) ‘Gravity’

(@ (b) (9 (d)

1) @ @) ) @0

2 O @ @) )
@) @) (v) @ @
@) () @ (@@ (i)
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8. YN wWE-Ueia o 9 werniica Afgaie TR [dar HIAEE TeRIR AT Sretade!

IV FIT IR ?
(1) i fofxm A (2) FY FH A
(3)  HWE TS (4)  EHR AT

Which of the following schemes of the government of Maharashtra takes care of the needs of
the disabled self - employed women as also the divorced wornen ?

(1) Pratibha Kiran Yojana (2} Swayambhu Hami Yojana
(3) Kamdhenu Yojana (4) Panchdhara Yojana

9. I Hu@/dl faum/A w9 arR/a?
(a) WET I wiTHH YRHES SAeN G
(b) Yt fEad! wien sesdn.

iy 39T ;
(1) a3 (a) I (2) HIB (b) AT
(3)  (a) ¥ (b) T A 4) (a) T (b) <= 2T

Which of the following statements is/are correct ?

(a) Mbohogany is found in Tropical Deciduous Forests.

(b)  Sundari is found in Littoral Forests.

Answer Options :

(1) Only (a) is correct (2)  Only (b) is correct

(3) Both (a) and (b) is correct (4) Neither (a) nor (b) is correct.

10. YEI® HIvd fa8™ Ira TR ?
(a) TIH WS AT UHT 737 A 3R,
(b) 379 ©TE IS TF SHHUA TEL

qgiET I+
(1) F92 (a) (2 w93 (b)
®) @) () @F@)THATER

Which one of the following statements is correct ?

(a) Nine emirates comprise the United Arab Emirates

(b) Abu Dhabi is not one of these emirates.

Answer options :

(1) Only (a) (2) Only (b)

(3) Both (a) and (b) (4) Neither (a) nor (b)
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11. O faam oo =0
@ ‘YT E" R feevm e, Faeus geaurr SUeEN< I Fd 3R,
(b) T ST YH FASTAHIR! FagvE S  JarRmres yamis 3 g afid’ s
Hol L,
(c) DFYAHH FREER ‘YT 7=’ @ Faevw T o
TSt FIR faum/FoE faam SRET R/ AR ?
(1) e ad (2) = (a) A (b)
(3) ®H (a) (4) T (a) I ()
Consider the following statements :

(a) “Paid news” is a corrupt practice used by contesting candidates in election campaign.

(b} The Media Certification and Monitoring committees set up by the election commission
deals with the cases of paid news.

{(c) Paid news is an electoral offence under the Representation of the People Act.
Which of the above statements is/are true ?

(1}  All the above (2) Only (a) and (b)

(3) Only (a) (4) Only (a) and (c)

12. (e Tt Fv fagm airg sme?
(a) o=H 3T Ve ¥ THEE a1 9 I IR,
(b) T=d 35 VN ¥ T q TR 9! fefeds omR.

it 39 ;
(1) Ha® (a) (2) 9 (b)
(3) () d (b) T (4) (2) | (b) TE A

Which of the following statements is correct ?

(a) Substance and Shadows is a biography of Naseeruddin Shah.
(b) Substance and Shadows is written by Tara Nayar.

Answer options :

(1) Only (a) (2) Only (b)

(3) Both (a) and (b) (4) Neither (a) nor (b)

FHeAT HIVMEEH AT / SPACE FOR ROUGH WORK
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13.

e fauR SN o=

(a) THETED FERHE 71 Hietd IFETHia Gh 47 31 I T Fol.
(by T YRR AERAE A I I A1,

(c) SET=AT 94 A1 T G FOT YT,

(d) ¥ v argeRmd THT 37T afiferta areda 4.

TGUHT RV /R faum/ faum aiET 3R/ ened ?

1) * () (2) @ (b) A (Q) (3)  F@ () AN () (4) T T
Consider the following statements :

(a) Mikhail Kalashnikov designed the weapon AK 47 for the Soviet Union.
(b) He is immortalized by the name of the weapon.

{c} He died at the age of 94.

(d) The weapon can be utilized in sandy as well as wet conditions.

Which of the statement/statements given above is/are correct ?
(1) (a) only (2)  (b)and (c)only (3) (c) and (d) only {4} All the above

14.

‘TR, A SRIER SRt aeaT= Aufeg Hen eeois! g faum/ faus swie
TR/ 31T 2

(a) simufag A - 5 sTEmr= STIEER A,

(b) TR ST Yo M, Narfvrr At 9 Aol HHlE STEEL

(¢) TR i vy mu T

(d) SHwafag Al sTaraa (Hies oed) el

Tt S

(1) (@ F= @ @aE @) @ 0 FD @) Tewd
Which of the following statements is/are correct about the prescription to be given by the
doctors as per order of the ‘FDA’ ?

(a) The prescription to be given on A - 5 size paper.

{b} Tt must contain full name, educational qualifications and registration number of the
doctor.

(¢} Doctors should give priority to Generic Medicines.

(d) A prescription must be written in Capital Letters only.

Answer options :

(1) (a) only (2) (a) and (b} (3) (a), (b)and (d) (4) All the above

ol HIHME! W / SPACE FOR ROUGH WORK
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A 9 TO5

15. (a) BICEP 2 @M gfelvi=ar aT @Meursmial sates fawarren fagiaet fesmie wo.
(by AU foreqr fEGIAFTER fagar=an SexiiHdal fava qaeo 1.
(c) BICEP 2 3 Tocaayu Tedl Tieed.
ot FIvR A,/ SR fGuR SET o/ 9 ?
(1) W (a) (2) I (a) ST (b)
() =fe wd (4) FOSUH THE TR
(a) Recently using BICEP 2 telescope scientists have confirmed cosmic inflation theory.

(b) Cosmic inflation theory states that after universe was born it underwent sudden
expansion.

{(c) BICEP 2 confirms signs of gravitational waves.

Which of the above statement/s is/are true ?

(1) Only (a) (2) Only (a) and (b)
(3) All the above (4) None of the above

16. I US4 U&7 W99 999 Fa@ T AR Fagd o7 2 ?

() R Sl 9E (b) VST HRTY HSWH

() FHfe 9a (d) o9

RRIR U

(1) ®H (a), (c) (d) (2) w=H (b) (o) (d)

(3) FH (), (b) (d) ‘ (4) ' (a), (b), ()

Which Political Party’s only one candidate got elected in the Constituent Assembly ?
(a) Krishak Praja Party (b) Scheduled Castes Federation

(c) Communist party (d) Independent

Answer options :
(1)  Only (a), (c) (d) (2)  Only (b), (c), (d)
(3)  Only (a), (b), (d) (4)  Only (a), (b), (c)

oAl HIMTETS! WM / SPACE FOR ROUGH WORK
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17. @O faum oa =
(2) WiGUMT=N 165 =T FHOATER AT HETuadar=] dids HFH S A7E.
(b) TEYTEETET e TEIdr .
(c) e U= faftHeerar SN Y Svarn 9 Ha WievdrEl SRR ST
(d) @ TEEAT HEE SRS ST R,

Tt Hivw/d faum/ S SiET oR/a ?
(1) (a) 3T (b) 2) (b) 3 ()
3) (o) =nfor (d) 4)  (a), (c) 30T (d)

Constder the following statements :

(a) Article 165 of the Constitution provides for the office of the Advocate - General of
state.

(b) Advocate - General is appointed by the President.

(c) He has the right to speak and take part in the proceedings of the state legislature.
(d) He is the highest legal advisor to the state government.

Which of the statements given above is/are correct ?

(1) (@) and (b) (2) (o) and (©)

(3) () and (d) (4) (@) (c)and (d)

18. (a) EeGTHRUNY TTYEETET TR 17 fava wfter o,
(b) ENIH ATIIATEdA U 6 U1 fard e

TIiEr ST
(1) ¥9% (a) (2) %= (b)
(3) (a) ¥ (v) W 4) (2)F (b) A< TR

(a) Generally total subject committees of Grampanchayat are 17.
(b) Mandatory meetings of Gram Panchayat in a year are six.
Answer options :

(1) Only (a) (2) Only (b)

(3) (a) and (b) both ‘ (4) Neither (a) nor (b)

HEAT HIATETS! AT / SPACE FOR ROUGH WORK
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19. iew o@L (T 9 aaedl favy aige))

TO5

A B
(a) TTmEvS @ 371-H
(b) fampi (i) 371-G
(c) TagE (i) 371-F
(d) STEUTES yeu (iv) 371-C
(ay (b) () (d)
1) () (i) (1) (B
2) () @) (u) (D)
@) @ @) @) (iv)
(4) (1) @) @) ()
Match the pairs (States and their special provisions).
IAI J"B’
fa) Nagaland (i) 371-H
(b)  Sikkim (i) 371-G
(c} Mizoram (iii) 371-F
(d) Arunachal Pradesh (iv) 371 -C

(@ () (o) {d)

1y Qv () () @)
(2)  (v) (#) (i) ()
@ @ @ @) (@)
(4) @ @ @) ()

20.

T AT AT AT Tee WA W AHFTie Wioteuh! vkl HoHH! faegaus sfgid
EIGIC P

(a) HFH -73 (b) HEH - 74
(c} oHeH -76 (d) HoH -78

Tt T

(1) (a), (b) 3 (o) ) (b), () 3 (d)
(3)  (a), (b) Ffor (d) (4)  (b) A (d) FB

Which of the following articles of the Indian Constitution broadly govern the relationship
between the Prime Minister and the President ?

(a)  Article - 73 (b) Article - 74
(c) Article - 76 (d) Article - 78
Answer options : :
(1) (@), () and () (), (© and (d)

(3) (a), (b) and (d) (4) (b} and (d} only

FHoAT HIHENS AT / SPACE FOR ROUGH WORK
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21.

12 A

e faur SuE =0

(a) Ui T witw=n rFReOR qoyd Fdeaial Sy SEHa U el
(b) YPYT-Faed W TRA ANTRHIAE B 3.

(c) hyraTFg R HH YOUT wdeardl Hetad AR

Teis! Fiv/H faam/3 SRt eme/q ?
(1) (a) @mfor (b) (2)  (b) =00 (c)
(3) (a) ¥ () (4) wH (o)

Consider the following statements :

{a) The Fundamental Duties were added to the Constitution on the recommendation of
the Swarn Singh Committee.

(b) Fundamental Duties are applicable only to the citizens of India.
(c) Keshavanand Bharati case deals with the Fundamental Duties.
Which of the statements given above is/are correct ?

(1) (@) and (b) (2) (b)and (©)

(3) {a)and (c) (4) only ()

22,

UF Yy 2oy 9 oy feeet snda. we wrefavargl, feae faumimse miEd gl one ffan
Lkl : M 1 WS HI0T 3778 ?
faum : () MEBNT IS .
(I) M 9@, N =9 359 Ul 3.
(1) aa faur (1) 9ete migdt gl
(2) HF faum (1) 9eie i ey
(3) faum (1 F (1) weie witd THEd STEEH
(4) Taum (1) 9 (11) A Tl TwiET € Qe TR

One question and two statements are given. Whether the information in the statements is
sufficient or not to solve the question ? Select the correct alternative.

Question Who is the brother of M ?
Statements : () M, is the brother of N.

(1) Father of M, is the husband of Mother of N.
Information in statement (I) only is sufficient

——
| [
T T M W

e

Information in statement (II) only is sufficient

W2

Information in statements {I) and (II), together, is essential
Information in statements (I) and (II), together, is not sufficient

oAl HIHTATS! AT / SPACE FOR ROUGH WORK
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23, WO UM TR o
(a) vRdra WiagmrE! YT € SiEEETE 96 ST =HE 368 SN HOHTAR TEET H 9d.
(b) T WfaeET=t STeAtEnT HigHmET 9w AR st S gEst w99 L
(c) by & Sfauren Wi s anf me diauEr=n U Hifes S’ gek 7 o

TEEI! FA A,
FieTH! Hivn /@t faum/3 steT s R/a?
(1) wd (a) 2} (a) 0O (b)
(3) T (0) 4) (a) 5 ()

Consider the following statements :

(a) The Preamble of Indian Constitution is the part of Indian Constitution and can be
amended under article 368.

(by The Preamble of indian Constitution is not the part of Indian Constitution and cannot
be amended.

(¢} The Preamble is the part of Constitution and can be amended only if no change is
brought about in the basic structure of the Constitution.

Which of the statements given above is/are correct ?
(1) only () (2)  (a) and (b)
(3) only (c) (4) {a)and (¢)

24, RIS IR UM I 3 ?
(a) T, Y, MieTe, Hie 91 T4l TIIh! hae G Tead UM Tiwg &R,
(by Toam aiwed wHla w5l 60 HE& 3T THaw.

ﬂ'ﬂﬁﬁ:{':
1) *E= (a) (2) e (b)
3) (@) ¥ (b) = (4) (a) @ (b) B E

Which of the following statements is correct ?

(a) Only two of the Southern states out of Karnateka, Andhra, Tamil Nadu and Kerala
have legislative council.

{(b)  The minimum number of members of a legislative council can be 60.
Answer options :

(1) Only (a) (2) Only (b)

(3) Both (a) and (b) (4) Neither (a) nor (b}

el HTHTETS 9 / SPACE FOR ROUGH WORK
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25. EAARR HEM YRA GIHRA YRATE €I ST HHl e e 7

(1) 1949 (2) 1966 (3) 1976 4y 1991
When was devaluation of Indian rupee not undertaken by the GOI after independence ?
(1) 1949 (2) 1966 (3) 1976 (4) 1991

26. TEI® HU faum amEmg R ?
(a) TIHEI TERS 1M 800 T w94 faer 7.
(b) Torei=n Wedia digfieiwss e sat STqeuarEt War gal 2.
(c) TremIm war wifersamre = g TAIE THOE Fol.
qgie 3
1 @ (2) (b 3) (9 (4) TR R
Which of the following statements is incorrect ?
(a) The Nizam lent 800 million rupees to the Government of Pakistan.
{(b) Through finnah he hoped to get the consent of Portugal to use the harbour of Goa.

{c) Nizam appointed a Pakistani as this Chief Minister.

Answer options :

1 @ (2) (b) (3) (9 (4) None

27. 3.9. 1875 <A1 V(! IoERIEHIA JRTaieh! HIvd fHUM Tehi= AE ?
(1) 12 ®, 1875 U ¥ 3% St 9feet 38 el
(2) 15 94, 1875 TS Yae= 3¢ WHuEmeie ‘qurs’ M .
(3) 9l TS T[EAT ‘Myth of the Deccan Riots' I S@M ekl IS =41 Hol .
(4) o THE AL

Which of the following statements related to the Peasants” Revolt of 1875 is not true ?
(1) On 12th May 1875, the Peasants revolted for the first time at Supe.
(2)  The last revolt took place on 15t June 1875 at Mudhali in the village of Bhimthadi.

(3} Prof. Ranjit Guha in his article "Myth of the Deccan Riots’ has discussed the Peasants
Revolt.

(4) None of the above.
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28. ORAEEN TGed WARATE! AR TS SigETET AR STl SeoE FiIvh Hel ?
(1)  oRaHs - AiS (2) wEEUE - fH
(3) WWaHH! - W (1) HEWE - AHEE

1t is a demand for the moon’ who said this in connection with India’s demand for Self -
Government ?

(1)  Minister for India - Morley (2) Viceroy - Minto
(3) Minister for India - Montegue (4) Viceroy - Chemsford

29, WHG TERTD STRINTET @real FwT JuER FerHd A1 $1 9 9rg vt faer,
(a) HASHT STEM
(b) OB A™EM
(c) FHT W
(@) EH FEm
it I
1) (), () (@) b)) (2} () (d), (b)) @) @)@ @) b @ (d) () b)@

Arrange the famine Commissions in their chronological order and choose the right answer
~ option.

{a} Macdonnell Commission
(b) Lyall Commission

(¢} Campbell Commission
(d) Strachey Commission

Answer options :

(D @ @@ b 2 ©a@d b e G @@ @b @ (@@ o @

30. WO ST FHi@ld ' Wifds @radar’ F1EE el ?

(1) 1935 d 1939 (2) 1935 1937

(3) 19379 1939 (4) 1939 @ 1945

In which of the following periods was the ‘Provincial Autonomy’ in practice ?
{1} From 1935 to 1939 (2) From 1935 to 1937

(3) From 1937 to 1939 (4) From 1939 to 1945
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31.  ArY e ol
(a) @E dfew G Vel
(b) Wi ToRR (i) EESER S TR
() ¥ THIE IR (i) 3T U SHoUHe HfHA
(d) 4 =reeg feuEg (iv) fegram wrr fefils

(@ () () (d)
(1) @) @) @) @
2y @) () i) (@)
(3) (v} () (D) (1)
(4) Gy (v) @ @)
Match the following :

{a) Lord Bentinck (i} Grand Trunk Road
(b) Lord Dathousie (i) Public works department
(c) Br. Mukundrao Jaykar (i) Indian road development committee

(d} Shri. Walchand Hirachand (iv) Hindustan Aircraft Ltd.
(@ () (@ (@@

(1) @ @i @Gv) (D)

2y @ (@ @) )

3) (v) () @) (i)

(4 () (v (1) ()

32. eI FIvd faum 9y e ?
(a)  HIUE=T 1888 <A1 SASTETETE ATHYAT SeAeIvE YISO 31§91 giaT - Wil 9o
(b)  Flgy SSl A TEHTUH AP YU qa8 99 yufad,

tl'ﬂ'hﬂ' 3'!"1:{' :
(1) 92 (a) T4 R (2) ¥a® (b) A
(3) (a) T (b) T AT 4) ()3 ) aﬁ:@ﬁ ST

Which of the following statements is correct ?

(a) The first Englishman to preside over the congress session at Allahabad in 1888 was
George Yule.

{b) Surendra Nath Bannerjee for the first time presided over the session in Mumbai.
Answer options :

(1) Only (a) is correct (2) Only (b) is correct

(3) Both (a) and (b) are correct (4) Both (a} and (b) are incorrect
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33, Siledl ol
(a) WER ufiwdd ufeds stfyawm () S 9T e
(b) HERTE TRERS gy AfeeN (i) RS T
(c) TR Tue faay sfEye (iti) SREX HiEr
(d) ERTE TRvee WY Afavm (iv) TifdewE TS
(a (b) (o) (&
1 @ @ (v (i)
(2} (v) () @) ()
3 @) ) @ @
4 © @ @i (iv)
Match the following :
(@) The First session of Maharashtra Parishad (i)  Shridhar Waman Naik
(b) The Second session of Maharashtra Parishad (ii} Kashinath Vaidya
(c) The Third session of Maharashtra Parishad (iii) Barrister Shrinivas Sharma
(d) The Fourth session of Maharashtra Parishad (iv) Govindrao Nanal
(a) (b} (o (d)
1) @ @ Gv) (D)
@ () @) G @
(3} ) (v) (@) (i)
4) @ G @y ()
34. ‘fig 3 UOHMA G 94 (9RA) T Sres’ 3 ITAT roft fawt 2
(1) TEARES TBE 2) TR TS
(B) =R wEheEl (4) e W
Who gave the simile of ‘two eyes of a beautiful bride (India) to the Hindus and the
Muslims ?
(1) Jawaharlal Nehru (2 Muhammad Igbal
(3) Sayyed Ahemadkhan (4) Mahatma Gandhi
35. ‘vaw ffeas A3 = qEoie! S Ahae AT 18 HEarl 1946 U WY [HRST 9 o i+

HIS THIA ?
(1) Teg=IH/FosHm (2) dEER/Has
(3) T/ (4) TEIE!/IREEL

The soldiers from which of the following ships of the ‘Royal Indian Navy’ declared a strike
on 18" February 1946 and where did they struck work at ?

(1) Hindustan/Calcutta (2) Talwar/Mumbai
{3) Shivneri/Pune (4) Sanhyadri/Porbandar
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36. TEI® faumi®l R TR R ?
(a) 9RdIT U S Tfeedr ifydymm 73 wiafet ufed €1
(b) TN A IRAT T HHIHS T wied’ BUF 1l FIT9E HRho,

W'ﬁﬂ':
(1) %9 (a) (2) w9 (b)
(3) (a)d () I (4) (a) (b) = A

Which of the following statements is correct ?

{a) There were 73 representatives present in the first session of the Indian National
Congress ?

(b) Sir A.O. Hume advised the Indian national congress to work like a ‘safety valve'.

Answer options :

(1) Only (a) (2) Only (b)

(3) Both (a) and (b) (4) Neither (a) nor (b)

37. WHHAd] Yid 9 SR 749 GHES G@a@ Weraauare S dTEA Fo.
(a) W9E I Faanms 49 TG T Ho,
(b) U FAT SFTHTAH efes MG TS
(©) H A TR o Il TG HS.
Tie v faum O a2
1 () @ ® © (4) =0 W
The Home Rule movement was extended to Central Provinces and Berar by various persons.
(a) Khaparde founded a branch at Yavatmal.
(b) Aaney opened a branch at Amravati.
(¢) Munje set up a branch around Nagpur.

Which of the above statements is correct ?
1 (@ 2) (b) (3) (o (4)  All the above

38. WOGUH! FHE NN ATeoE.
(1) TS HHT - TS I FE (2) oS e - IR A e
(3) e T - yom deRd wE (4) O FTA - AR faErdis wEw
Find out the wrong pair from the following :

(1) Lord Canning - Royal Titles Act (2) Lord Lytton - Indian Arms Act
(3) Lord Ripon - First Factory Act  (4) Lord Curzon - Indian University Act
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39. Eﬁ?ﬁﬁfﬁm?ﬁ?ﬁaﬁmz
(a) W =T - foom T HegE e
(b) OIE FASH - FEAUN T§a (FT0)
(c) od AEUY - WFaanl TEad [
(d) e Fiu e - fee fametn =

Qi 39
(1) e (a) L (2) T (b) T
(3)  (a), (c) HMT (d) T (4) ¥ 9FF TR

Find out the right pair from the following :

(a) Warren Hasting - method of Revenue collection by auction
(b) Lord Cornwallis - permanent settlement system (Bangal)
(c} Thomas Malthas - advocate of Rayatwari system

(d) Robert Keeth Pringale - student of David Recardo

Answer options :

(1) only (a) is correct (2) only (b) is correct

(3) (a), {c} and (d} are correct (4) all the answers are correct

40. Elo fGumite SR O e ?
(a) U BT ToeAeT ' gey TqEEAiE 91 3TH B F3A T e,
(b) |7 1818 HEA FHW AfHATHIS AT g A 3 YIS TR TS TR A H.

Whﬁ%?ﬁ':
(1) 9 (a) AT 3 2) F9® (b) A AR
(3)  (a) ¥ (b) T A 4) (a)d (b) FEE

Which of the following statements is correct 7

(a) Lord Curzon referred to the National Congress Organization as a class of microscopic
minority

{b)  Governor General Dufferin attempted to prevent the Congress session from getting a
venue in 1818,

Answer options :
(1)  Only (a) is correct (2) Only (b) is correct
(3) Both (a) and (b) are correct (4) Neither (a) nor (b) is correct
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41, ToE AUANH gwa faum s ?
() TENTETd WAl WK AI<e@ e TATe feea g,
(b)  HIHOT TG THI SR STEEATeS T fuhfaer s .
(c) WA Halld S Shedl SIS HERTS B
(d) TRRTER @Y fae wald st &5 swio-aifem faegma o1
et I
1) (a) ®x (2) (d) ®=d 3) (@), (b)) (4) (b), () 3T (d)
Which of the statements given below is/are incorrect ?
(a) Raigad district produces highest quantity of rice in Maharashtra.
(b) Wheat is not produced in Konkan due to high rainfall.
(c) Maharashtra produces highest quantity Banana in India.

(d) Area of kharif crops is lowest in Akola - washim district of Maharashtra.

Answer options :
(1) (a) only (2} (d) only (3) (a) (b)and (c) (4) (b),(c)and (d)

42. I o faumite! :vE g o ?
@) T 2011 =8 THVATER AERE (KIS TR Seha@=Il 45.2% SIHGEAT TR YFTE 5.
(b) TA 2001 HEA ¥ WHIT 42.4% B,

T 46T
(1) Hde (a) dma (2) %9 (b) I
(3) {(a) 9 (b) 3 A (4) () 3 (b) FIRE I E

Which of the following two statements is correct ?

(a) According to the census of 2011 - 45.2% of total population of Maharashtra state lives
in urban area.

(b} In 2001 this percentage was as much as 42.4%.

Answer options :

(1) Only (a) is correct (2) Only (b) is correct

(3) Both (a) and (b) is correct (4) Both (a) and (b) incorrect
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43, OEEFEE AGSTH e TGS SR@ o I Tdihed wH Falhe FH B

(a) weRE b) fagme (9 wrere (d) fomrmge
gt S
(1) (), (@), (©, () (2)  (0) (@) (d) (b)
(3)  (©) O), (@) (d) 4 (D @ O) @)
Arrange the iron ores from higher to lower grade on the basis of quantity of iron found in
them.
(a) Hematite (b) Siderite (¢} Magnetite (d) Limonite
Answer options :
(1) (a), (d), (), (b) (2} {c) (@) (d), (b)
(3)  © () (), @) 4) () (©) (b) (@)
44, TOHBIH! HOE T B S YO S W = qo Sy sEHeTR Tt Fafites dm e ?
(1) e (2)
(3) F=m 4) T THS TR

Which of the following rivers is partly a natural boundary between Pune & Solapur and
Pune & Ahemadnagar districts ?

(1} Godavari (2) Bhima

(3) Krishna (4) None of the above

45. Qo faur YR feararie sammEmt fed o Fam.
(@) I YRA FHT AYAM ITH.
(b) W YRAW IH TE FHoS! fawm THal.
(c) T T IAHS FHI e L.
(d) IR TR TILHS AN
FhETH! Hiod! faum wiay smed ?
(1) (@), (b) A (o)
@ @) (3 (d)
(3)  (a). (b) S (d)
(4) wH (c)
The following four statements describe weather conditions during winter season in India.
{a) Low temperature over North India
(b)- High pressure area in the northern India.
(c) Air pressure decreases towards North.

{d) Wind blows from land to ocean.
Which of the above statements are correct ?

(1) (@) (b)and ()
(2) (@) (c) and (d)
(3)  (a) (b) and (d)
(4) Only ()
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22 A

TEITh! SV faum g o ?
(a) TIOMREE T WEH YIRS HSO YOI HEl |Iveq!.
(b) FTES TSF HENEI= URATS UNeia Hieasl.

qaidy 39T
(1) Fa (a) AT (2) 9 (b) A
(3) (a)d (b) T AT (4) (a) 7 (b) <t I TR

Which of the following statements is correct ?

(a) The dolomite is found in Kadappa rock pattern of Maharashtra.
{b) Limestone is found in Dharwad Rock pattern of Maharashtra.
Answer options :

(1) Only (a} is correct (2) Only (b) is correct

(3) Both (a) and (b) are correct {4) Neither (a) nor (b) is correct
47. YErets wa/d faam/S g sR/a?

(a) TENAR foeeam e Heyd &g & 39 IR,

(b) TS TR FeRs AeEeyer RdNn.

it 39

(1) 9 (a) T AR (2) %A (b) AT AR

(3) (a) @ (b) TR AFT AR (@) (a)d (b) IE I TG

Which of the following statements is/are correct ?

(a) Coconut Research Centre in Ratnagiri district is at Harne.

(b) Dapoli is known as Mahabaleshwar of Ratmagiri District.

Answer options :

(1) Only (a) is correct (2) Only (b) is correct

(3) Both (a) and (b) are correct (4) Neither (a) nor (b} is correct
48. TENE faed §AAR (Ee fHe9 Sid atcl A oL

(a) THH HS

(b) W T

(c) fafed

(d) <&

T ST

M @GO d @ ©6@do @) ©6E0d @ ©o) e d
Arrange the following sources of irrigation in decreasing order of area under irrigation covered
by them in Maharashtra.

{a) Government owned canals

(b) Private canals

(c) Wells

(d) Tanks

Answer options :

(1) @ 0L @ @0 G ©@b®.d @ ©®) @ (d
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49. IW YRAE HEHT JSUMES MBAT IFTH WIHGTH! HIVETN B IWHGH SV S TS 3N ?
(1) TUE, WRE, R (2) qUE, M, @R

(3) @R, 9R, I (4) R, T, TR

Which of the following orders of alluvial deposits in the North Indian plains from North to
South is correct ?

(1) Tarai, Khadar, Bhangar (2) Tarai, Bhangar, Khadar
(3) Khadar, Bhangar, Tarai (4) Bhangar, Tarai, Khadar

50. TEImdh! HIE/d faum/S ang ome/a?
(a) WEaY Saeie Wil de@r fayg ot faeen o
(b) Tt SRt I FeTET Hgwdw.

T 39T ;
(1) HFB (a) IFF T8 (2) %9 (b) A IR
(3) (a) @ (b) TF AT R (4) (a) F (b) 37T M

Which of the following statements is/are correct ?

(a) Sindhudurga Fort is situated on Khanderi island near Malwan.

(b) Elephanta caves are found on Underi island.

Answer Options :

(1)  Only (a) is correct (2) Only (b) is correct

(3) Both (a) and (b) is correct (4) Neither (a) nor (b} is correct

51. HEREI® T g9TdTe Jar=] YN SRiedid T TSaid SR
(1) SEelid THY Yed e,
(2) TEIH™ ATHIA SR STE.
(3) @AW TEMN fawd .
(4) oTHVEA FH FHOGES
In Maharashtara mansoon forests usually shed their leaves during summer because :
(1}  There is no rainfall in summer
(2)  There is high temperature in summer
(3) Climate is uneven in summer

(4) To reduce evaporation
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52. TRt A< g5 T I SR
(1)  TiereR! R fowd Jr 3 foanmz.
(2) TigrERt T YRATdS S TR STHeEE,
(3) TG A= Sial T TG FAA.
(4) TIETERT FETSAT HiGTER 3T FUEIH FHATHL,

The river Godavari is often refered to as *Vridha' Ganga because :
(1) Because of its large size and extent.

(2) Because it is the oldest river of India.

(3) lIts length is nearly the same as that of river Ganga.

(4) There are a large number of pilgrimage centres situated on its banks.

3. TETT FIR/E faue/A 9w et/ ?
(a) TEEAHE YFLET AT TR AR
(b) = T PR TR 9HeT AR,

‘-'I'le'éﬁ 3#1‘ :
(1) Haa (a) I (2) FIB (b) I
(3) (a)d (b) Tt A (4) (a) & (b) TG FEE

Which of the following statements is/are correct ?

(a) Sahastrakund water fall is on Vainganga river.

(b} Wani is situated on the banks of river Nirguda.

Answer Options :

(I} Only (a) is correct (2)  Only (b) is correct

(3) Both (a) and (b) are correct (4)  Neither (a) nor (b) is correct

54, IWHSA SEES, WNH Feamie Taia Geieuh S w1 aE 3 ?

(1) e, \e, S, s (2) SR, SR, 9, Ffast

(3) S, s, St wifast (4) Tfa, aferet, ST, SRS

Which of the following sequences of rivers from North to South is correct in Ratnagiri
' district ?

(1)  Savitri, Bharja, Jog, Vashishthi  (2) Vashishthi, Jog, Bharja, Savitri
(3) Jog, Bharja, Vashishthi, Savitri ~ (4) Savitri, Vashishthi, Jog, Bharja
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55. THygr snftr Wt Feendie fon o yam fys sg sro .
(1) ¥ & feien IRt sifus dme .
(2) Terian S geviten sifus e,
(3) I fceaidie Teuil o Fo .
(4) o foeeaed - qewiE Joge feramen S TR,
Sex ratio in Sindhudurg and Ratnagiri districts is more because :
(1} The area is more conducive for the growth of women.
(2)  Birth rate of females is more than males in this district.

(3) Males from these districts have migrated.
(4) Death rate of males is more than females in these districts.

56. 4TI T 2013 T SEARN Yidg woedl Wia faswr FRHiEER (HDI) 18I Suie St

FHW HIgu H.

(a) Tferor Hifwn (b) U
() T (d) &
it 39

1 @O0 & (@@ k)@ @ © @@ d @) (@ b @
Arrange the countries in descending order as per their Human Development Index (HDI)
reported in UNDP Human Development Report 2013.

(a}) South Korea (b) Japan
(¢} USA (d) Norway
Answer Options :

1) @ b @ @ © @ k)@ G b @@ d @) (@) b) @

57. YEre faumitst g faum ay e ?
(a) YRAIGI® GHU WAl T3 I TE0S FIS J&A.
(b) e Frafa fassrdie o 11% ek =1 SEIREA 9.

Tt 39N
(1) F9% (a) 2) I (b)
(3) ()T (b) TR @) (2)3 (b) I T

Which of the following statements is correct ?

(@) Textile Industry is the second largest industry of modern India.

(b}  The contribution of this industry to export earnings of the country is about 11%.
Answer Options :

(1) Only (a) (2) Only (b)

(3) Both (a) and (b) (4) Neither (a) nor (b)
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58. U DIEHE G0 2000 =t IKTRD RA.
(a) AT g X Y BE ST 100 Ya Wit ST,

(b) HE(TR SEHH.

(c) W® Yo TR SR SHIE 20 U&T QIS 0T,

i I

(1) (a) FH (2)  (a) 3T (b) W
(B)  (a) S (c) w (4) e wd

National Population Policy 2000 aimed at.

(a) Reduced Maternal Mortality ratio to below 100 per lakh live births.
(b)  Universal Immunisation.

{c) Reduced Infant mortality rate to below 20 per thousands live births.
Answer Options :

(1) (a) only (2) (a) and (b} only

(3) (a) and (c) only (4) All of the above

59. (a) I IUEHA YO HERH 1966 HH T&E F0ATd AT,
(b) I IRH Y HEAFT T Fad Tg 07 g ATqard wAifed .
Tgidt I :
(1) (a) e SUH 28 (2) (b) P TN R
(3)  (a) =T (b) ST S AR (4)  (a) SO (b) T I ARA
(a) High Yielding Varieties Programme (HYVP) was introduced in 1966.
(b) HYVP was restricted to Wheat and Rice.
Answer Options :

(1) (a) only is correct (2)  (b) only is correct
(3) Both (a) and (b) are correct (4) Both (a) and (b) are incorrect

60. (a) & TV ST AN ARSI FAAG dohhgT [T Hedl ST,
(b) TH, TIHEH T U SRiquaE KA TG B,
Tatdt I
(1) (a) Fo FUR AR (2)  (b) B ST AR
(3)  (a) Al (b) == SR =R (4)  (a) N0 (c) S g e
(a) Regional Rural Banks (RRBs) are sponsored by public sector banks.
(b}  The working group on rural banks was chaired by M. Narsimham.
Answer Options :
(1) (a) only is correct (2)  (b) only is correct
(3) Both (a) and (b) are correct (4) Both (a) and (¢) are incorrect
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61. (a) U@l a9 RN 4. ooy Few qi= AT TN FLUG1 ST,
(b) T 99 AN FEH 2010-15 SR,
() TeT=SN FoH 278 TR fad S0 Toad o S,
LRIz
(1) (a) &M (b) T G 7.
(2)  (b) HMT (c) Tea SUE ATEA.
) (), (b) T (c) T TS TR 37
(4) (@), (b) W (c) & W 9 A
(@) Thirteenth Finance Commission was set up under the chairmanship of Mr. Vijay Kelkar.
) The time duration of Thirteenth Finance Commission is 2010-15.
(c) Finance Commission is set up under article 278 of the Constitution.

Answer Options :
(1) {a) and (b) are correct.

(2)  (b) and (c} only one correct.
(3) (a), (b} and (c) all are correct.
{4) (a), (b) and (c) all are incorrect.

62. TEI@ IV faum arg aR ?
(a) T=TE Y 0T HYE (NRHM) 2005 951 & FI091d 210,
(b) HYE 2012 Tl GAR 88,000 AT (ASHA) Fags Fiiem Fivam e,

giay 399 ;
(1) 9 (a) 2) ¥ (b)
3)  (a) 3 (b) TR (4) (a) @ (b) TR EE

Which of the following statements is/are correct ?

(a) In the year 2005 National Rural Health Mission (NRHM) was launched.
(b)  Till September 2012 about 88,000 ASHAs were selected and trained.
Answer Options :

(1)  Only (a) (2)  Only {b)

3} Both (a) and (b) {4) Neither (a) nor (b)

THeeAl HINTEE! | / SPACE FOR ROUGH WORK
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63. TEi® ®ivd faur Hehte o7g ?

(a) H 1969 HEA 19 Sehid TSHAHIN HLTAT SIS,

(b) ¥ =R Sk feuifEeg T 50 FE | oA TR TR FI0AH .

WWW:
1) ¥ (a) (2) a3 (b)
(3) (a)F (b) TR (4) (a)d (b) <= TEE

Which of the following statements is/are incorrect ?

(a) Nineteen banks were nationalised in the year 1969.

(b} Commercial banks with deposits worth ¥ 50 crore or more were then nationalised.
Answer Options :

(1) Only (a) (2) Only (b)

(3) Both (a) and (b) (4) Neither (a) nor (b)

64. TREIo faumite! wivR I e 2
(a) ' oTvT e AN 1959 WEA Y& HI0AW S,
(b) Toaa qaeiE yRfid weie Rasut WS @ad I U S Gl R Huar

SR,
AT Y

(1) 9@ (a) (2) aF (b)

(3) (a)d (b) T (4) (a) @ (b) AT

Which of the following statements is/are correct ?
(a) Lead Bank Scheme was started in 1959.

(b) Lead Bank Scheme was started taking into consideration regional level credit
requirement.

Answer Options :
(1) Only (a) (2) Only (b}
(3} Both (a) and (b) (4) Neither (a) nor (b)

HEA WIS\ / SPACE FOR ROUGH WORK
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65. TEeiH! fve fauym I R ?
(a) TIRHEAR HRA SN TR 3= 9i ST 48 wed uet
(b) WRET ELATR, e ¥ faw e €
Tt 6
(1) *a&@ (a) T
(2) FeB (b) A
() (@ (b) e A
@ (@9 ()W s
Which of the following statements is/are correct ?

(a) The National Income Committee was appointed by the GOI after Independence in
August 48.

(b) Professor D.R. Gadgil was its chairman.
Answer Options :

(1) Only (a) is correct

(2) Only (b) is correct
(3) Both (a) and (b) are correct
(4) Neither (a) nor (b) is correct.

66. RIS HIVA faem qr oe ?
(a) TeIfcqer THIOT forme SRIwH 2 SaIat 1980 TS §6 6011 HTHW T FIVGM L.
(b) TeAT T 600 TS Fai 1980-85 ALY A WAEATT B,

gt I ;
(1) S (a) (2) eI (b)
3) ()9 () TR (4) (a) T (b) T T

Which of the following statements is/are correct ?

(a) The IRDP was launched on 2" October 1980 in all the 6011 blocks in the country.
(b) In each block 600 poor families were to be assisted during 1980-85.

Answer Options :

(1) Only @) (2) Only (b)

(3) Both (a) and (b) (4) Neither (a) nor (b)

ol FINTEGS! KA / SPACE FOR ROUGH WORK
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67.

30 A
&I B faurt IR e ?
(a) ST Scqe HINHIII WO hard WiFEAh! e 2005-06 91 SMERYTE 99 =UE A9 H4.
(b) S 2000-2001 STURYF ¥ F,

i I :
(1) % (a) 2) Faz (b)
(3)  (a) 7 (b) (4) ()9 (b) TR T

Which of the following statements is/are correct ?

{a) In national income accounting presently the Central Statistical Organization uses
2005-06 as a base year.

(b) Previously the base year was 2000-2001.

Answer Options :

(1) Only (2 (2) Only (b)
(3) Both (a) and (b) {(4) Neither (a) nor (b)
68. URITYH! HIUM fAUH T g ?

(a) 2005 <1 SEZ <A1 e TRgQIIuR faus onfi® & @adfed ariEr 100% faew
TSR AT VAR S TR,

(b) 39a 3308 foe anfds &% e 9 Jarat Fraly wwm.

L 131031 e e g
1) HFS (a) ) IS (b)
(3) (a) 9 (b) TR @) (a)d (b) I TEE

Which of the following statements is/are correct ?

(a)  As per the provisions of the SEZ act 2005, 100% FDI through automatic route is allowed
in SEZs.

(b) In the country 3308 SEZs are exporting goods and services.
Answer Options :

(1) Only (a) (2) Only (b)

(3) (a) and (b) both {4) Neither (a) nor (b}
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69. Telo HIVR faur Iy g ?
(a) TR SATIR WO SATIR St ‘Siel’ w2002 91 I6 gE e
(b) = SR W9 2011 T99 € IO Aoe TEd.

Tﬂﬁﬂ"\ﬁﬁ':
(1) &9 (a) (2) e (b)
(3) (a)d (b) = 4)  (2) ¥ (b) = i

Which of the following statements is/are correct ?

(a) The ‘Doha’ round of trade negotiations in the WTO began in the year 2002,
(b)  The trade negotiations were not complete even in 2011.

Answer Options :

(1) Only (a) (2) Only (b)

(3) Both (a) and (b) (4) Neither (a) nor (b)

70, (a) HECH W TEA WHO YSEMR 5 A1 2006 A8 & FLIM S,
(b) AT Sa T FFRA - T e qvard 3w o

it S

(1) (a) ST (b) T SR TR 2) (a) T W SR

(3)  (b) R T R @) (a) 301 (b) SEl I MEE

(a) Mahatma Gandhi National Rural Employment Guarantee Scheme (MGNREGS) was

introduced in 2006.
(b) MGNREGS aimed at training rural youth to be self employed.
Answer Options :
(1) (a) and (b} both are correct (2) (a) only is correct
(3} {(b) only is correct (4) (a) and (b) both are incorrect

71. Elecdrdl d FHATE! TS 910 G 379G, A1 e Y21 &1 fadM el
(a) et arge fre fog @ wels W .
(b) TR TRy (facter T o aeEvars STl 9gh.

Tatdt I

(1) o (a) AWH (2) e (b) AE

(3) (a) @ (b) 3E! AT (4) () @ (b) A= AT

Construction of an eye is similar to that of a camera. In this respect consider the following
statements.

(a) Iris functions as Lens aperture and shutter

(b) Ciliary muscle is the focussing arrangement

Answer Options :

(1) Only (a) is correct (2) Only (b) is correct

(3) Both (a) and (b) are correct (4) Neither (a) nor (b} is correct

FHoeAl KA ST / SPACE FOR ROUGH WORK
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72. U@t Fiv faum 9w SR ?
(a) @ T fa=e iR qafes ST,
(b)  eA] TS FHTATET T sl FaAlieren .
Tt I
(1) ¥ () 7 @)
(3) (@) (b) I A A ()
Which of the following statements is/are correct ?
(a) The angle of deviation is maximum for the red light.
(b) Wave length of violet light is maximum.
Answer Options :
(1) Only (a) is correct (2)
(3) Both (a) and (b) are correct (4)

%93 (b) A4 ¥R
(a) & (b) e TR

Only (b} is correct

Neither (a} nor (b} is correct

73. foga wftqurdie faqesar -
(a) STHEUME THE TEvid FSar.
(b) ITHR FHIW ST SSaw.
(c) Taog urgm TEod sTEd.
(d) V& WIIRE SAEOT 379,
gt S ;

(1) (a) 3 (<) (2)  (b) =or (c) (3) (b 3T ()
The fuse used in electric circuits is :

(a) Placed in series with the device.

(b) Placed in parallel with the device.

(¢) Made of an alloy.

(d) Made of pure metal.

Answer Options :

1) @and© @ @and(© () (b)and (d)

HoeAl HIRTATST WA / SPACE FOR ROUGH WORK

(4) (a) =T (d)

(4) (a) and (d)
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74. TR HIA faum @y ong ?
(a) ST =N AU AL, 25i0,.2H,0 .
(b) WL @ segfufam= afe g IR,

'Q?J'i'ﬁ)f?ﬁi:\':
(1) =9 (a) (2) HF (b)
(3) (a) (b) A= (4)  (a) ¥ (b) T=T T

Which of the following statements is/are correct ?

(a) The ore of Aluminium is Al,0,.25i0,.2H,0.

(b)  Siderite is a mineral of Aluminium.

Answer Options :

(1) Only (3) (2) Only (b)

(3} Both (a) and (b) (4) Neither (a) nor (b)

75. TIIHIA § THAU FIvR oREA THR E

(1) AL Cu; Mn; Mg; Zn (2) Al Cw; Ca; Mn; Zn
(3) AL Cu; Ni; Siy; Zn (4) Al Cu; Mg; Ca; Zn
Duralumin is the alloy of :

(1) AL Cu; Mn; Mg; Zn (2) AL Cw; Ca; Mn; Zn
(3) Al Cu; Ni; Sm; Zn (4) AL Cu; Mg; Ca; Zn

76. ST, TEEHE afulwarn 9 1 gRferda arefmt.
(1) =, ST TS ke
(2) i1, TEEtE AfufwEt ghear s TR,
(3) e, TERHF SAfufmd= wiea = w9 g
(4) e, THEtTE AfvfwE=l Iwm e

A catalyst speeds up a chemical reaction in a condition.

(1) When, the composition of the catalyst changes.

(2)  When, the energy of activation of the reaction increases.
(3) When, the energy of activation of the reaction decreases.
(

4}  When, the heat of reaction increases.

FoeAT HIHEGS! R / SPACE FOR ROUGH WORK
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e 3 faumits! S faum 9 o ?
(a) T g wioft Aeeaia A,
(b) TR T A YA 15 T .

et ST
(1) %96 (a) AFF 3R (2) %9 (b) 9T R
(3) (a)d (b) el UM A @) (2)9 (b) 3= Ara T

Which of the following two statements is correct ?

(a) Silver fish is a true fish

(b} Maximum life span of a dog is 15 years

Answer Options :

(1) Only (a) is correct (2) Only (b) is correct

(3) Both (a) and (b) are correct (4) Neither (a) nor (b} is correct

78. (BT gF fauMias SR g &) ?
(a) A M WOETE FERTE FHaE qaid w9 fawiad s
(b) HUHE TR HU FGT TE.

It 39T
(1) +& (a) A= (2) *a® (b) AN
(3) (a) @ (b) T A 4) (a)F (b) TR T

Which of the following two statements is correct ?

(a) Fishes have very poor sense organs for light perception.

(by Four chambered heart is not found in snakes.

Answer Options :

(1) Only (a) is correct {2) Only (b) is correct

(3) Both (a) and (b) are correct (4) Neither (a) nor (b) is correct

79. fguig AmSHTen TaAERIETe Qe FHIVET TEHT St e ?
(1) fgure am fawer Hemem wom foga.
(2) mwaww@wmwmmamm
(3) SIATEFATAT SdterH 4d.
(4) fEoRA™ gdd STdETAH FRaag .

With reference to the rules of binomial nomenclature which of the following is not true.
(1) Binomial name js written in Italics

(2) Both generic name and species name begin with capital letters.

(3) Generic name is followed by species name.

{4) Binomial name should be universal for species.

oAl HTAMER AT / SPACE FOR ROUGH WORK
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80, THGUH! BV FHRY G0 ¢ T{H FTNHE TAedd 9fie aHe S ?
(1) THE Fo (2) Frafhd g o
(3) AFAHd g @ 4) fgfeht yar= o
Which of the following flower characters is considered as the advanced one in
Angiosperms ?
(1) Solitary flower (2)  Actinomorphic flower
(3) Zygomorphic flower {4) Bisexual flower

81. YErods! R faum 9rg 7R ?
(a) fHaMIwmEe YEme any ' f2-fa ! 9ae o8 SEe 9 ?
(b) HRETTH IAS T eI .

Wf'éﬁ ET'ﬁ' :
(1) 9 (a) T4 (2) FFB (b) A
(3) (a) ¥ (b) T=I AT (4) (a) 3 (b) TE FAE

Which of the following statements is/are correct ?

(a) Cyanophyta algae are known as blue-green algae ?

(b} Batrospermum algae are nitrogen fixing

Answer Options :

(1} Only (a) is correct (2} Only (b} is correct

(3) Both {a) and (b) are correct (4) Neither {(a) nor (b) is correct

82. TEIGUH! BV [GUF TG TR ?
(a) TEo@Edie T W T GRS ST9EHeS 2l
(b) Tl URTSE § TREE U SHAS TR AR B,

W‘f’ﬂﬁ' EH‘T :
(1) de (a) A4 (2) Ha® (b) AT
(3) (a)d (b) 7= AW (4) (a) T (b) S I

Which of the following statements is/are correct ?

(a) Khaira disease of rice is caused by the deficiency of zinc.

(b) TPowdery mildew in wheat is caused by the deficiency of potassium in the soil.
Answer Options :

(1) Only (a) is correct - (2)  Only (b) is correct
(3) Both (a) and (b) are correct (4) Neither (a) nor (b) is correct
83. WIHTER HemH IFHd @ A W= M 3.
(1) STHTD 7T 3F; 59 (2} H@ AT ;T
(3) HAHIW HE R3; T (4) HW AT A T
Vegetable fats contain and are at room temperatures.

(1) Unsaturated fatty acids; liquid =~ (2) Saturated fatty acids; liquid
(3} Unsaturated fatty acids; solid {4) Saturated fatty acids; solid

FeAT HIATHGT ST / SPACE FOR ROUGH WORK
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84. WRAT R fEd-u (ome-a) e e e,
(1) RN (2) I (3) e (4) FWE
Majority of vitamin A in the Indian diets is derived from :
(1) Phytin {2) Tannin (3) Oxytocin {(4) Carotene

85. UEI® FIVW faum Jrg o ?
(a) TS TR ARYHEAN ST
(b) ig=n Uef femmof (i) Fuedmn.

it I
(1) &9z (a) A7 2) % (b) I
(3) (a) T (b) AT 4 4) (a) 3 (b) IS A TEE

Which of the following statements is/are correct ?

(a) W.B.C.s are made in bone marrow.

(b) W.B.Cs destroy bacterias.

Answer Options :

(1} Only (a) is correct {(2) Only (b) is correct

(3) Both (a) and (b) is correct {(4) Neither (a) nor (b) is correct

86. TEoTd wrewemn STy w.
R4PIJMQ3%T@O@UKS5VIWS$Y2BE6#9DHSEG* ZN
SYUE HAE SR (R0 YESHE HHM JUR Tard U2 I ?

g vafg faer.
PIQ;ToK;1$2;_2
(1) 69H 2) 69D 3) 698 (4) 64D

Study the given system.
R4PITMQ3%T@eUKS5VIWSY2BE6#9DHEG*ZN

What will be the next term in the following series, on the basis of the above system ?
Select the correct alternative ?

PIQ;ToK;1%$2;_2

(1) 69H 2y 69D (3) 698 4) 6#D

T HIMTEE AR / SPACE FOR ROUGH WORK

www.adda247.com/mr |  Adda247 'FRTopprp | https://t.me/Adda247Marathi



Dhruv Vashisht
Line

https://play.google.com/store/apps/details?id=com.adda247.app

A 37 TO5
87. @mmmwmmwaﬂﬁa@m
A
°
Jil 4
(a) (b) ) (d)
it S
(1) R (a) 0 (b) (2) (@) (@ (@)
(3) W (a) U () (4) R (c) T (d)
Choose the objects similar to a cube formed from the given paper.
V' N
°
LI
SO O
@) ®) © (@
Answer Options :
(1} Only (a) and (b) 2) (@) () @)
(3) Only (a) and (c) (4) Only (c) and (d)
FH=AT HIMTATS 9 / SPACE FOR ROUGH WORK
P.T.O.
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88. aTFeaiet Wi KOS AR, SHdIT %Y [e T Te0AEme! 3 w4 Frasy,

* | A + A | #

O ¥ @ + C ?

JAN + AN > A

A 7 X AN
o JAN YA C
X X 7 e

¢y 2) (3) (4)

A series of figures is given. Select the appropriate alternative in order to continue the sequence.

* JAN + AN o~

O * @ + C ?

A + JAN # A

AN 7= X A
= JAN AN C
X X -~ T
(1) 2 3) (4)

oAl HITEEl SR / SPACE FOR ROUGH WORK

www.adda247.com/mr |  Adda247 'FRTopprp | https://t.me/Adda247Marathi



Dhruv Vashisht
Line

https://play.google.com/store/apps/details?id=com.adda247.app

A 39 TO5

89. T o faum ot ongA @y (1), (1), (IIN) & (IV) 38 HUIF JIESH A Gt oRa.  feoat
faym weraTReTTS A STHeTn quEiien fus AR R 91ee 90 TR @ O WMEET Rd. T
1 fauMI= SR IO STHN ThETE STRd AT vig =

fauarm : HIE TS T IR,
HTET TS Y AR
I () TIF TS T R fbn gy o

(I1) TR QTSI 9 el & 17 A
(L) ST TS 1 312 T8 U AR,
(Iv) 19 gy 3R, T TS ML

Tt I |

(1)  [AV) () Tt TF THET R

(2) R (IV) 3for (1) akTa amda.

(3) E (I11) ST (I1) FehETTa TR

(4) WE (I1) STfor (1) TG SRd.

There are two statements that are followed by four conclusions numbered (1), {II), (III) and
(IV). You have to take the given statements to be true even if they seem to be at variance
from the commonly known facts and then decide which of the conclusions logically follow
from the given statements.

Statements : Some stones have colours.
Some stones have fragrance.

Conclusions (I}  Every stone has either colour or fragrance.
(IT) Some stones have neither fragrance nor colour.
(III) Some stones have colours as well as fragrance.
(IV) No stone has colour as well as fragrance.

Answer Options :

(1)  Either (IV) or (III) follow

(2) Only (IV) and (II) follow

(3) Only (III) and {II) follow

(4) Only (IF) and (I) follow

ol THIATATS! IR / SPACE FOR ROUGH WORK
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90, WP 3 /YdiE N A AUIEE Tohd ZOS oA, qUd wE ol faoken amdd. SRl A
g fedsean ois/ wdlieh THET 31ER Wohd e AE yat fraen

FAFE/gfdE 1 # § 9 8 6 % @ @ 7 2 4 % 3 5
gRFE : B D ENTIV RGHEKTJ] P F A

e
(a) R HEEe e e oifqw e, < faem ofF eradie @ i Y = FUE S w0,
(b) R ufed % UF wuE onfor ifow 9 ww wween sHe W dieed onfur sift weie Hehd
TR FEEH.
(©) R Ufed 98 ua fawm s anfon oifam v uw fde STd® q€ areie 2 =1 ®9Id Heha e,
(d) SR oS vg TA o i Sift vg we fawm sfw oTie WM faw oie Heham wiat sE.
#He /gide 998 : :
6% @9#3
wiE IW .
(1) VRGNDF (2) FRGNDF 3) YRGNDF 4) ZRGNDF
Number/Signs and their alphabet codes are given. Some conditions are also given. Considering
the conditions, select the correct letter-code option for the given number/sign group.

Number/Signs : 1 # $ 9 8 6 % @ © 7 2 4 % 3 5
Letter codes B DENTIVRGHIKTJ] P F A

Conditions :

(a)  If the first and the last term of the group are odd numbers, then code them both as “Y’.

(b)  If the first term is a sign and the last term is an even number then interchange the codes
of first and last term.

(c} If the first term is an odd number and last term is a sign, then code both as "Z".

(d) If the first term is an even number and last term is an odd number, then code both by
the code of odd number.
Number/sign group is :
6% @9 #3

Answer Options :

()/,/,_ VRGNDF (2) FRGNDF (3 YRGNDF (4) ZRGNDF

91. feren Rl 1 At e frAren w0 DEaee R, o foom wree 99 Sk e, S arit
10 fFSPHIE T it o | Steedl dodt 98 dieiee. Sl awit 15 fheret am 18 & df 3o
ool T T o 39 iEee. SR e Tk am et 49 deeee e | e R S s
€ ?

1 14 fesyast () 13 fedlamt (3) 12 feEamt (@) 11 fed/am

Dina wanted to reach Meena’s house at 1 pm to have lunch with her. She is travelling on her
cycle and if she travels at 10 km/hr, she will be there in time for lunch. If she travels at
15 km/hr. she will be there two hours before the fixed lunch time. At what speed must she

travel to be there one hour before ?
(1) 14 kmm/hr (2) 13 km/hr (3) 12 km/hr 4) 11 km/hr

oA RIWETST WM / SPACE FOR ROUGH WORK
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92. g 1 faum & @rge (1), (I1) 9 (1) 31 shAiRIET A 3 oM. S weanamome g1d qeai=an
Hewla faum firs ared soet o g o Ic TMEET AR, IER IV SIEH qehETd SR

a7 fvi Rt ST A,

faamt . od o v e
Tl e =HaT TEL.
e w2 AR AR,

A () UHE! SIS HeT R

(I1) & & =99 BT AR
(I1I) UHE FST 412 e,
Tt I
(1) UhE TeheTa el 2) §d qhETd SR
(3) ®E (1) & (IT) ToheTa 3Meq (4) T (ID) I (HI) THETA ITRT
There are three statements that are followed by three conclusions numbered (I}, (II) and
(ITT). You have to take given statements to be true even if they seem to be at variance from

commonly known facts and then decide which of the conclusions logically follow from the
given statements.

Statements : All bowls are spoons.
No plate is a spoon.
All forks are plates.
Conclusions (I)  No bowl is a fork.
(II) No spoon is a fork.
(III) No bowl is a plate.
Answer Options :
(1) None follows (2)  All follow
(3) Only (I} and (II) follow (4) Only (II) and (IHI) follow

93. 7 FTE FW 24 femT@ [ FW. @1 7 FW 9 femaa of F0 W F § w12 Teawm o F+@.
1 ° HO HHIST EAT H@ G0 41 ETaHat o1 SrEel e e TR, AT He S0
HH H WM TS, fier § W g s fEd few ermde ?
(1) 10 @) 14 (3) 5 4 7
Certain work is completed by Ami in 24 days. Bala completes that work in 9 days and Kala
requires 12 days to complete that work. Bala and Kala started the work but could not come

for work after three days. Thus Ami was forced to complete the remaining work. How
many days will she require to complete it ?

1) 10 2) 14 3) 5 4 7

AT HIATETSl WRT / SPACE FOR ROUGH WORK

P.T.O.
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94. TEIG HIEEA TSt UOUEEE! ISl WA AT AEiaie Jgs B drecarsan SR S,

HITA GAMT THH ITTSTAMT [Tl Hald Tded 30T ?

00
[olNe}

00 000

(1)

__________

[oR v}
[l

[oXe] [} o]

(4)

Study the steps used for folding following paper, circles indicate punched places of the fold.

Which option would closely resemble the unfolded form of the figure ?

o0
[oNe

00Q 000

1)

[e e}
o0

0Q [elie]

(4)

ol THIUTETS! 9T / SPACE FOR ROUGH WORK
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95.

43 TO5

WY [ 7El FE W GO0 aRe. W 1 el WY 1 el I Hhd Koo ed. wehdr %Y @
Toha ol 9 foded v Wb, Wdie s1aii=n HATER, feowm iy feael  we uwy
TG SRE S,

wyl w11
TAPE moij
COuP lhhpok
TIE nls
ROTATE nhpk
SAY nkpl
TREAT msr
YEAR khlph
SIP hrp
TYRE pmlh

"CREATE 31 Teqra Hehd e :

(1) ilpkhp (2 jlphip (3) ilhkhn (4) ik plhp

In column I some words are given. In column II the codes of the words in column I, are given.
The sequence of the words and the codes may not be necessarily the same. Moreover the -
letters in the codes are also jumbled up. Decode the language and find the correct code of the

given word, in the same sequence, as in the given word, from the given alternatives, out of
which only one is correct.

Column I Column 11
TAPE moij
cour lhhpok
TIE nls
ROTATE nhpk
SAY nkpl
TREAT msr
YEAR khlph
SIP hrp
TYRE pmlh

Find thecodeof ' CREATE":
(1) ilpkhp (2) jlphip (3) ilhkhn 4y ik plhp

AT HIWEEE AR / SPACE FOR ROUGH WORK

P.T.O.
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96. THIE WY WSl TYTETIIHTO 371
+ — HqH ; X - T&T W31 AT
+ > UTE ;b - U T T

- & Wt ; A > A TEl

Wadbdc? fGUT Eots! Hoe deqay ta-4d wd T ?

(a) alAb+c (b) axbdc (c) aAb(lc (d) a+bdc
it S

1) a 2) d @) « 4) b
Some relations are expressed as follows :

+ —» equal to ; X — Not greater than

+ — less than ; ¢ — Not less than

[J — greater than ; A — Not equal to

Then statement a ¢ b ¢ ¢ does not imply that

(a) aAbc ®) axbrc () aAbQc (d) a+bbe
Answer Options : :
() a 2y d 3) ¢ 4) b

97. & U fovg yoE F:vM g TR ?
N T —
Jdo  #Ha +
(@) (b) (c)

1) =@ 2) (@) oy fag (4) foww
Which symbol is opposite to blank surface ?

5 .Q @ @

(a)
(1) Circle (2) Triangle (3) Additionsign (4) Dot

@eeAT SHTHTHTS! AT / SPACE FOR ROUGH WORK
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98, T Sepdidie HIvE! TS S &1 THM 101 7 ATIwaT Tae! Heard Squl st fiauarE
Fila w1 fF7H &1 orrde ?

1) 6 @ 3 @) 5 (4) 4

What is the minimum number of colours required to fill the areas in the given diagram without
any two adjacent spaces having the same colour ?

oA HIHMENS AT / SPACE FOR ROUGH WORK

P.T.O.
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99, IV THIH FIAARr=Al ST 4TS 7

(1) 4 (2) 8 @ 7 4) o6

Which alternative will replace the question mark ?

1) 4 2 8 Gy 7 4) o6

HoeAT HIUMEE 91T / SPACE FOR ROUGH WORK
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100, 1, A, = 39 # ¥ (o= @0 JF9M aSe! .
PAQ =1 19, P, &g &t Q & anfor WS} gl Q v
P=Q =1 319, P, gum T Q & i Wet At Q ey
PIQ =1 91¢, P, T8 & Q &1 377 T el Q Yem
P#Q 41 3¢, P, T8 At Q Ua o7 9mm e Q =
PO Q= 3, P, g0F TR Q ™
a1 mifedi=n emun fedem faumiges Feoed feryiasT 99 @i st

faems . A#B; B=D; DAE
ferd . () A#E
(I) E#B

(1) e fed (1) SR

(2) wEa TRy (1) SR

(3) el () o (1) SR

@) frend (1) e (1n), S AL |

The signs {I, A, (1 = and # are used as follows :

PAQ, means, P, is not less than Q and not greater than Q.
P=Q, means, P, is not equal to QQ and not greater than Q.
PMIQ, means, P, is not equal to Q and not less than Q.
P#Q, means, P, is not less than Q and not equal to Q.

P [ Q, means, P, is not equal to Q.

On the basis of this information, select correct alternative about the conclusions, derived
from the given statements.

Statements : A#B; B=D, DAE
Conclusions : () A#E

(I) E#B
(1) Only Conclusion (I) is correct

Conclusion (I) or (IT) is correct
(4) Conclusions (I} and (II), both are correct

)
(2)  Only Conclusion (II) is correct
)

~000-

oAl HWIHTES 9T / SPACE FOR ROUGH WORK

P.T.O.

B ORI - A

www.adda247.com/mr |  Adda247 'FRTopprp | https://t.me/Adda247Marathi


Dhruv Vashisht
Line

https://play.google.com/store/apps/details?id=com.adda247.app

TO5 48 A

A — (=8 1 a6 T2....)

®) weyfasae fafes wow fafre swie 9 FW (T %) 9. R STufTsat a1 3@
FIEER FH FH HEAW q FIO T AW F 3, - A0S TEG o WA I AHTH
IR Fere el Eomen TRyER gitsy wEEed Afyfae-s2'! O WgdaR FRAE FI0Am
g F N K FAG U Guioq FREErE A/ fEa 79 U TR WA dere e 1 2

(9) T TeFITFhEdt S fafeq FOD A Hueariat IHTARE € FeIgfe T sat warhaeel 93
I WA SR, W TSI HATETEY ATUATGEl SHEaRH JNTUEIT STUTThar HIT-1 AUas®iehe J

famar wa H0T savEE I
THAT W9
Y. % 201, AT =@ T FOAMEIC! HI0H GEd: I e ?
(1) T TEHE Al (2) dverEg faEmEnR
@) S THEE T (@)  TITEE T

T WS 9y 39 ' (3) TS U U oW TR, ©Te 91 TR S Y'(3)) TS awiE
WTHTRHTH 99 %, 201 THD So-HuS 1 (3)"" T ade T sl FE i s
.

1721 D Q @ @

I UEH WY TGRS For TeArE g SaGEHiE 9 JRlet Wil JUaeedl Sauisale
A YIRS Hitud Id@ ivd sEifed Fed STEaEl. g AT e whiedr ynge
WU A, Ufee 31 wEs U s T,

FHoedl FHIAHES! AT /SPACE FOR ROUGH WORK
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